20204F K X EFEREZEFRAEGSEEA0A17H L4

A A 7
e 91/106/111%3
T (A - I, 1
ol 92%3% L. 2
= ol 93%3% L. 3
7 7 N ys Sk . j: .
s it 1001%:% ;IJ A58 PO A% & _— 94%y JL. 4
VAV 10 ? 91--100/106/111%13z 95%14% L. 5
IFAZES 99%3%; I 9 IFAEL
Wik INAE2 A
A8 lE3E -
R PA:IH] 98%1% JL. 8 | 97%3 . 7| 96%1H SL. 6
A A AN
‘ 7= 101%37 )\ 1
TER i 0225 L. 2
7% HADAE 103537 J\. 3
W= | e N { Y o p % .
% s J\. 11 I =% | b 104%375 )\ 4
VIYNEL! J\. 10 101—110%%1% 105%3 )\, 5
TMAES 110%37  J\. 9 DaEL
WikE IMAE2 A= (]
P E] e
- e
R PA: 1A 109%37 J\. 8|108%17 J\. 7|107%3% J\. 6




20204 K X EFHEREEZFRAEGASEEA0A17TH TS

A AE
N 67/77/78% %
TA A - S 1
el 68%3 Ju. 2
75 7 N o 1L69%ES .3
= |BETS 7 PO B WP BB 0% L 4
IR EA 6% Ju. 10 67——78%1z 1% Ju. 5
JPAES 5% Il 9 IPAEL
RIEE IPAFE2 A [
TR [ERE] B
REBE | bkl | 7a%sp 8 [73%% h. 1 72%8 . 6|
A AE
X 5 9% )\ 1
. i 80X J\. 2
5 HBDPAE 81%3 J\. 3
Wy=s [l | 90%Y )\ 11 o =A% | s 82E I\ 4
I a4 89%37 J\. 10 79--90/105% 1% 83%4 J\. 5
IPAZES 88% J\. 9 AZEL
RIE=E IPAZE2 T[]
A E] HIE
BB T | 8% . 8 85/8f<1°§%§ﬁ% 8145 J\. 6 Pt
X TEBAE
e % TR >
= EHAR= 91%¥ L. 1
EE ) B A E 92%3% L. 2
SWE | ki BREKE VI 93%35 L. 3
= WHENFIPAE wO| HE | 94%Y k. 4
R = oAbl 91--96%17 95%37 . 5
% 2% AF
543 5 Hb2 REGAL
TR [ERE] B
b ST T Y Y [96% L. 6]




73

[El#\ 2

N TPAEREE L.
. = 97%Y L. 7
S = 98%1%) . 8

- 7 9% 1. 9

73 DRI A —Fk il 100% . 10
. A2 97--101%1z 101%3 1. 11
5 Ab1
85 4b3 TAE]
= s MR

HEB TN 2 | zs

\ =
LA o T

A IRE
s wHEY = S Cla 10253 .
%M%Y m— 102—107%1 10358 &
IAZEL 1043 E—.
TPAE2 A ]
A [ERE]
HeBh P ] 10754 Py




20204F K X EFHEREZFRAEGSEEA0A18H L5

A A] PAE]
N 99/100/109%3%
TA A - T, 1
ol 101335 . 2
= o5 102243 1. 3
3 b LE L Ul ] vp Y R aipr | g [103%3 L. 4
e ”%{151?% 99—110/113-115%4 104%3 F. 5
Frres “’;“jﬁlg% !
RIE=E ANV AT
T[] HiE Hebh
RS [ Tam J1o7%3 S, 8[106%3 Ju. 7[105%3 Ju. 6]
NEEHT
N sl 1% J\, 1
TN IR 11253 J\, 2
7 HADAE 11653 J\. 3
Wbss | s | 124 )\ 11 e aip | B | 17y L 4
IPAFEA 123%3 )\, 10 111/112/116-124%#%3% 118%3 J\. 5
JPAES 12273 )\, 9 IPAEL
WRiIH=E A YNEY) TR
TR B®iE B
HE B | orm 1213 )\ 8[120%1 J\. 7[119%1 J\. 6]
X TEHRNE
el % T[] 5
= EEAE 125%3 +. 1
T B E 126%47 . 2
SUE | gy K 127%3 L. 3
R WENFEIPAE Yrp ik WA Bl | 128% L. 4
R = Akl 125—129%17 129%1 . 5
% 2% AR
A3 b2 AN
A A B®iE e
REBE Y'Y




20204 K X EFHEREZEFRAEGSEEA0A18H TS

A AE
N 86/87/93% 1
TA A - T, 1
75 88%3% JL. 2
s = e | e [L89FH L. 3
| BE ST T 7 PO B WP BB To0 gy g 4
LN 97%37 JL. 10 86——97/107*% 17 91%3% M. 5
IPAZES 96%3% JL. 9 IPAEL
RIEE JPNEE2 BEE ]
TR [ERE]
et P ] 95%4% JL. 8 94/#’7?% 924 1. 6 bt
TR DAE
N = 98%3 J\, 1
LA TR 99555 I\ 2
7 HEDPAE 10053 J\. 3
WiEs | paE | 1095 )\ 11 I =% oo | BaE | 101% )\, 4
NEA 108%37 J\. 10 98—109% 17 102%3% J\. 5
JPAES 106%3% J\. 9 IPAEL
RIEZE JPNEE2 NEE ]
TR [ERE] B
HE B [ prkm Jios%d )\, 8[104%45 J\. 7[103%45 J\. 6]
X TEHRNE
el % T 5
M= EEPAE 1105 . 1
B B RE 111%4 . 2
SWE | kil BREKE 112%3 £, 3
e 55 NI Hirh o BE | 13k b, 4
R = 5kl 110—115%3 114%3¥ . 5
= 2= PAZE
G OB S Hb2 RS
TR [ERE] e
BB T T Y [115%4 +. 6




X B RN PR C 7
LEH = 116%3 . 7
vy o = 11753 . 8
RUE = 118%35 +. 9
2 || OHERE W — ap | e (119 L. 10
A1 TEH kb2 116—120%1% 120%37 £, 11
- HEE kb3 I EL
kg vz =2 T i et
BBl | Tam ] % | % T2
P A PA ] 7
75 IpNE
e IPRE
7 wHFEY = Tk wo| B | 12158 m.
%Y & 121--125%17 122%37 .
T AL 123437 o
ANV A A
A ] g
B P %ﬁjéi? LgBjéiZJ géljéiﬁ v
= — 5 2 B 3




